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1. The Lagrangian density for a system consisting of a real scalar and two types of Dirac fermion
in four dimensions is given by

L= 50,6016 — S+ 3 Tulin 0y — )i — 9600

2 .
i=1,2

(a) [4 marks] Write down the momentum space Feynman rules assuming Minkowski space-
time.

(b) [6 marks] Draw the tree-level Feynman graphs, including momentum labelling, for the
following processes: i) scattering of a type 1 fermion and a type 2 fermion, ii) scattering
of two type 1 fermions, iii) scattering of a type 1 fermion and a type 1 anti-fermion.

(¢) [7 marks] A type 1 fermion with spin and four-momenta s1, p; scatters off a type 2 fermion
with spin and four-momenta so, p2 producing a type 1 fermion with spin and four-momenta
s3,p3 and a type 2 fermion with spin and four-momenta s4,ps . Write down a formula for
the matrix element My, p2'paps corresponding to your diagram in question (b)i. Explain
why the total amplitude squared for the scattering of unpolarised particles to a final state

of any spin is given by
‘M|2 _ % Z ’M81,82783,84|2

P1,P2,P3,P4
51,52,53,54

Show that
2

Am? — 2\ ?
[M[* = g* <m2 — qq2 )
where ¢* = (p1 —p3)?. You may assume that Y u$(p)us(p) = (p+m)q for Dirac spinors
u*(p).

(d) [8 marks] Consider the Green’s function with n external scalar lines of momenta p1, ... py,
and no external fermions lines, G™(p1, . .. pn; g, m), where we have displayed explicitly the
dependence on the mass and the coupling constant. The naive scaling dimension dg
is defined by the behaviour of the Green’s function when all masses and momenta are
rescaled by a factor A through

G (A1, - .. APn; g, Am) = ASG™(py, ... pn; g, m).

By analysing a general Feynman graph with n external scalar lines, n,, vertices, n; internal
fermion lines and ng internal scalar lines, show that dg = 4 — n. Discuss the superficial
divergence of graphs and the counter-terms required to renormalize this theory.

2. Consider the complex scalar fields
dp 1 + - d3p 1 ,
= b+ ZP-X, T _/ 1: 4+ b ip.X
¢(X) / (271')3 /2Ep ( p ap) € ¢ (X) (271,)3 /2Ep (a P p) €

where the annihilation and creation operators satisfy the standard commutation rules. The
Hamiltonian and a new operator () are given by

d3 d3
H= / ﬁ Ep(afap +bhbp), Q= / ﬁ (ap — bp)(af, — b)),

(a) [5 marks| Show that

@y aq + sba) = —(1 — )(aq — by),  [Q,al,+ k] = (1 — s)(al, — bl)
where s is a real constant.
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(b) [5 marks] Define Cy = ¢*? where ) is real. For operators A such that [Q, A] = cA where
c is a constant show that A(\) = C\A CI\ satisfies

DA(N)
o\

Solve this differential equation to find A(\) in terms of A and A.
(c) [7 marks] Using the result of parts a) and b) show that

=icA(\).

Cz d(x)CL = o' (x)

and deduce that therefore Cg can be identified as the charge conjugation operator. What
is Cx HCL?
2 2
(d) [8 marks] The parity operator P has the property that

What is the action of P on annihilation and creation operators? For a single real scalar
field find a representation for P in terms of annihilation and creation operators.

3. The path integral for the generating functional of a real scalar field theory in 4 dimensions is
given by

2sl = [ Doex (i [[ate |30%60,0 - Sm® —i0g? - 5.6° + o)

(a) [10 marks] By formally expanding the relevant exponentials, differentiating and resum-

ming, show that
2] = ex /d4 AN 0
Show that

4 —ip-(z—y)
Z[O;j]:ZOOexp(—/d4 /d“/dp i z;ﬂe )

What is the role of the ie term in this quantity?

(b) [7 marks] Write down an expression for the expectation value of T [[;~, ¢(z;) in terms of
Z[)\; j] and explain how combinatorial factors arise in the Feynman graph expansion.

(c) [8 marks] Compute the combinatorial factors for the following graphs:

Q. -0
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